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Why do we measure competitiveness?

We want to ensure we grow ahead of our markets, no matter whether they are growing

strongly or are facing challenges

« Competitiveness is one driver of Underlying Sales Growth, and supports our number

one priority of accelerating top line growth within our multi-year framework of 3-5%

« Winning market share in the majority of our portfolio is an importantindicator of

operational excellence and stepping up our competitiveness continues to be a priority

« We haveincluded % business winning in our long term reward framework, this ensures

that everyone from manager level upwards is targeted on winning in the market place

%g « Itis ameasure also used by other companies to communicate competitiveness

Unilloves



Why is % businesswinningthe best measure of competitiveness?

Incentivises broad-based growth

« The metricincentivises all cells to keep winning share, not just the big cells

« Onceyou arewinning in acellthere is no BW% benefitto winning biggerin that cell (but you need to keep
winning to avoid it turning negative), because the outcome is a binary “winning” or “losing”. To achieve
business winning at our target level, we have to win across a broad range of differentcells

« The alternative metric of growing aggregate marketshare (across all the businesses we arein) can

incentivise a continued focus on winning big in large market cells, and neglecting share growth in other

cells

Allwinning cells contribute, independently of market growth

* The alternative metric of growing aggregate marketshares (weighted on marketsize of eachcell) can
give misleadingoutcomes. As marketgrowths and market positions differ across the portfolio, an overall
increase in share can be generated without gaining share at a local cell level (e.g.aggregate share could
improve just by having a low market share in a declining category without actually growing share in any
cell) - see appendixfor example calculations

« Underthe business winning metric, only winning cells contribute to the globalnumber

gé%%g We consider success as consistently exceeding 50% business winning on a 12 month Moving Annual Total (MAT)/L52W basis
Unilloarer



How is % business winningcalculated?

« We measure competitiveness on a MAT/ L52W basis

« MAT/L52W s the best period to look at, as shorter periods (such as L12W) can be very
volatile and are not a good indicator of long term competitiveness

« Anyindividual cell (e.g. Brazil deodorants) is winning when the value market share over
a 12 month period improves vs. the prior corresponding period

« Onlyshare gain counts towards % business winning

« Cells are weighted by turnover when calculating overall % business winning, so large
cells contribute more than small cells

« Holding share does not countas awin

See next slides for calculation illustration
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Market shareassessed at a cell level

Any individual cell (e.g. Brazil deodorants) is winning when the value market share overa
12 month period, improves vs. the prior corresponding period

Example 1: a single cell assessment

MAT (L52W)
Value MarketShare  Value Market Share Bpsshare Winning/
overacurrent12 over the previous 12 movement losing
month period month period
Brazil .
deos 30.3% 30.0% +30bps Winning

Unilloves
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OverallBusinessWinningis weighted on size of each cell

Unileverhas manycells of different sizes.
Example 2: a business with just 3 cells of different sizes

Turnover* June Sept Dec Mar June
% of total MAT /L52W L12W L12W L12W L12W
CellX 40% Losing Losing Losing
CellY 35% Winning Losing
Cellz 25% Winning Losing

%Business  CellY35%+ o 0 0 0 0
Winning CellZ25% 60% 75% 60% 65%

Simple average

does not equal

v

Unilover * Weighted basis prior full yearturnover



Ssummary

* % business winningis the most appropriate measure forincentivising long term

competitiveness

« USGis ourshorttermincentive measure and % business winningis our long term

incentive measure. They complement each other and help drive competitive growth

« Successis consistently being above 50% business winningon a 12 month MAT / L52W

basis

« Stronggovernanceis in place through Board Compensation Committee

Unilloves
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- Example 1: Two cells can lose share, but aggregated market
share (in bps) can stillshow an improvement

Business winning does notrecognise cells that are losing market share. This is a fair representation of cells that are
losing share, and easily allows us to identify and correct losing cells.

Example 2 Market Market Market Turnover I\gﬂ::t Market SE a;e % BW
P sizeCY SizePY Growth (FY PY) cy Share PY mvpm t

Cell 1 1000 900 11% 300 39% 40% No

Cell 2 450 500 -10% 40 9% 10% No

Total 1450 1400 4% 340 297%  29.3% 40 0%
Although bothcellsare % business
losing, totalmarket winning
shareis positivedueto reflectsshare
market size and growth lossesin both

?gé = cells
wga@a



- Example 2: Two cells can win share, but aggregated market
share (in bps) can stillshow a decline

Business winning recognises cells that are winning market share, without being distorted by market size or growth.
Thisis a fair representation of share gains on a cell basis, which is how we run the business.

Example 1 Market Market Market Turnover I\gﬁgkr:t Market SE a;e % BW
P sizeCY SizePY  Growth (FY PY) SharePY P °
CcY mvmt
Cell 1 1000 900 11% 200 25% 24% 100 Yes
Cell 2 250 100 150% 1 2% 1% 100 Yes
Total 1250 1000 25% 201 204%  21.7% 100%

Although bothcells are
winning, total market
shareis negative dueto
market size and growth

|

% business
winning
reflects share
gainsin both
cells




- Example 3: Cells with a large market size (but low turnover) can
be disproportionatelyrepresentedin aggregated market share
measures

Business winning is weighted based on acell’s turnover, so is not distorted by external size of market which may not
be relevant to ourbusiness.

Example 3 Market Market Market Turnover I\gﬂ;kr:t Market SE a;e % BW
P sizeCY SizePY Growth  (FYPY) Sharepy P °
CcYy mvmt

Cell 1 400 300 33% 200 81% 80% 100 Yes

Cell 2 4000 4000 0% 50 1% 3% No

Total 4400 4300 2% 250 83%  8.4% 80%

High weighting %BW reflects win
. given to cellwith in cell with larger
ﬁ = low turnover turnover
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